[ Efficiency vs vertpos |
= 0.05

T SN N SRR W

2.0.04F oo
Q F : : N

FT )11 R RRERETRE EURRTRRTRE SRR S R

=] E . . T [

T 0.03F e
0,025 +++++eseeivreenenenchon gL L H
0.02F -+ e b TREH-4F
T s R T HAEE T
.00+ feechen R N R R

E : T on . +

0005—+ # + SR SRR N

SR S———— 1 |+ dll
0.8f--wmenennnnins T
YC SRR o ¥
1072 107 1

Efficiend

~n 0.01 : : .
©.000F-++-+tvereedeeees R O S
0 E : : : : :
Y1 SRR TURRPOE SRRt ) A NS
> F . . . . .
=1 E : : : . .
O e 0|11 RS SRS
00 SIU TSR 3 N ||| L SR NS
o E : : : : :
0.008fF++++++ieeeeedoes LI e
010 R Rt [1111d1 SRR SRS
0.008F -+ -eeen e gHEHHL e S
0.002fF++++vieeeeeiner L s
0000 -+t ---ee oo AR b
P T R I | I A R T

25
2
1.5

Ratio

-

-

d
.

-

=

%9 =20 -10 0 10 20 30

[ Efficiency vs. sim PV z |
~0.02

> E : : : : : :

i AR S SR S S E
B.016E b bbb
YV, 2% SRR R PR N T S
> F o : : : : : :

_a_‘:j).mz_
] r
& 0.0]
[}

0.008
0.006
0.004
0.002

iy
TTTT[TTTT

6 8 10
Sim. PV z (cm)



	Contents
	Page 1


